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AT/ Part—- A
WA 3 / General English

01. Fill up the blank space by selecting the suitable preposition among the alternatives given below:

Gandhiji was born Porbander.
(A) at (B) in
(C) by (D) on

Choose the word which can be replaced the underlined word

02. The auction will begin precisely at 1100 hrs.
(A) concisely (B) exactly
(C) about (D) probably

03. Reckless driving was the cause of the accident.
(A) Speedy (B) Cautious
(C) Overconfident (D) Careless

04. Choose the word which is opposite in meaning to the underlined word

The feasibility of the project is to be studied before starting the work.
(A) Unproductiveness (B) impracticability
(C) effectiveness (D) Justification

05. Select the most appropriate meaning of the given idioms:

A black sheep
(A) A lucky person (B) An unlucky person
(C) An ugly person (D) None of these

Select the one word which can be substituted for the following:

06. A disease which spreads by contact
(A) Incurable (B) Infectious
(C) Fatal (D) Contagious

07. One who eats everything
(A) Omnivorous (B) Omniscient
(C) Insolvent (D) Irresistible
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08.

09.

10.

Identify the wrongly spelt words:

(A) OCCASION (B) OCEAN
(C) OCUPATION (D) OBVIOUS
(A) BELIEVE (B) RELEIVE
(C) RECEIVE (D) DECEIVE

Which of the following is the synonym of the word ‘Innovation’?
(A) Production (B) Sincerity
(C) Invention (D) Prevention

11. Antonym of the word ‘hefty’
(A) Large (B) Mere
(C) Small (D) None of these
Fill up the blank space by selecting the suitable word among the alternatives given below:
12. Many areas of the city, . into darkness for hours.
(A) Plunged (B) Spread
(C) Merged (D) Drowned
13. Not less than a dozen Injured.
(A) Were (B) Where
(C) Was (D) Got
14. Select the word or group of words that is similar to the word in capital bold letters
VINDICATE
(A) Justify (B) Try
(C) Ignore (D) Persuade
4 Brdw feinleusf gurmi&dl Hmieus 2 _kain ausTsb/
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15.

16.

17

18.

19.

20.

In the following passage, there are brackets with numbers within. The same numbers are
given below the passage and few words are suggested as the most suitable. Choose the
word that fits in the blank appropriately.

Indian women have through the ages been __ (15)  to the four walls of the house. Home and

' (16) have been considered to be the summum bonum of a _ (17) _life. After the Vedic Age,

with the (18)  of Indian society the status and (19) _ of women too underwent a rapid

(20) . It came to be believed that the women was a weakling who needed the protection and
shelter of her father, husband and son.

(A) subjected (B) restricted
(C) confined (D) assigned
(A) kitchen (B) hearth
(C) shop (D) office

(A) man’s (B) child’s
(C) boy's (D) woman’s
(A) resurrection (B) revival
(C) degeneration (D) dejection
(A) command (B) role

(C) sermon (D) position
(A) fall (B) degeneration
(C) deterioration (D) downfall
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Hr T/ Part - B
Wﬂﬂaﬁm &\l / General Knowledge and Reasoning Ability

21. WRA % WS H Ugafa 9 % fog sefigar s % forw =gmam ey fRat 82 7 What is the
minimum age required for a citizen of India to be a candidate for the office of the President?
A) 32 (B) 30
(C) 35 (D) 25

22. Nfefes fag &1 5 9@ fereest Ieis 8 2 / What do the 5 rings on the Olympic symbol represent?
(A) 5HTEEHS /5 oceans
(B) 5HaGY /5 continents
(C) 5Y&/5 planets
(D) 57fi% <aaT/ 5 Greek Gods

23. WRd % HiqgW i el ggEr § fhat W &7 / How many languages are there in the 8"
schedule of the constitution of India at present?
(A) 14 (B) 18
() 22 (D) 15

24. feu U foepedt # @ foww wise =t —3’3’[ / Find out the odd word from the given alternatives:
(A) Ut/ Bird
(B) T/ Kite
(C) 3T / Crow
(D) fafen / Sparrow

25. fopg @ A I <et 7 R AfAfies-2020 § wRa & ¢ weHAm @l wgs M/ In which sport
did Neeraj Chopra won the one and only Gold medal for India in Tokyo Olympics-20207?
(A) ¥IeYe/ Shotput
(B) &/ Shooting
(C) Safe™ 9t / Javelin Throw
(D) TeT=a Ut/ Discuss Throw

6 Ardw elemrdeustl g rmiisd Himieier e hgin auemnsib/

TE Al Hirerad [ ISRO Propulsion Complex — ertiyed /ate/April 10, 2022




. s A
S |i57T HINDI TYPIST

26. ¥4 SHIHAT TRRE Tacll £l W“ EREIEIRIP %? / The first case of novel corona virus identified in

27.

28.

28.

30.

(A) 98/ Wuhan (B) fifS/ Beijing
(C) Y= / Shanghai (D) 3T ¥ HIE &l / None of these

forve warterer fee@ 7T STan & / World Environment Day is celebrated on

(A) 053 /June (B) 05 Ses / July
(C) 05 31 / August - (D) 08 3|/ October

T HTES Floh TR WA T Hai=l TR & / Dadasaheb Phalke awards is India’s highest
(A) W YUHK / Civilian Award

(B) wifa JI&hK / Peace Award

(C) R g / Cinema Award

(D) Wd JWEHR / Sports Award

(8 {1 & o i €1 8 / Durand Line is a border between
(A) STHENHEF 37 qIfREa™ / Afghanistan and Pakistan
(B) WRA 3T HME / India and Afghanistan

(C) ¥R« 3R S77ew / India and Bangladesh

(D) T 3T =R / Bangladesh and Myanmar

form U= /g T 9w 3 COVID-19 A 319 Uiy & @ ol #fgenadl i Aee w1 & fiw fivm
Treded A U fomi e 3® a1 87 / Which state/UT has launched a special mission called
MISSION VATSALYA in order to help women who lost their husbands to COVID-19?

(A) X/ Kerala

(B) e / Karnataka

(C) weWIsg / Maharashtra

(D) W Ye¥ / Madhya Pradesh
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31.

32.

33.

35.

i ¥ &9 BId @ / Proteins are made of
(A) T / Sugars

(B) TR TS / Amino Acids
(C) & ufirs/ Fatty Acids
(D) —IfeTeh TS / Nucleic Acids

BTN G & TSR3 7T 9T/ Vaccination was started by
(A) ™ $ "ok / Jonas E Salk

(B) diet e / Paul Muller

(C) Tgae 9K / Edward Jenner

(D) &< I / Robert Frost

IS HHER %I 61 ﬁff ED g 98 @m: / Today is Monday. After 61 days, it will be:
(A) HTEER / Tuesday (B) WMWK/ Monday
(C) TEER/Sunday (D) WIHER / Saturday

ﬁm‘ b forepedt & @ o« Qi H _g’ﬁl’. / Choose the missing terms out of the given alternatives
A,B,N,C,DOEFP?277?

W oh (B) GH,J

@ Gha @) JKL

S G I I % GAH IR ¥ Gefa T8 @7 / Which word does not belong in the same
classification as the others?

(A) ¥=/inch

(B) 379 / ounce

(C) T/ centimetre
(D) I / yard
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36.

37.

38.

39.

40.

41.

9T/ Part—-C
3 70T / Arithmetic

29 BT 1 3MHd 917 28 Kg B1 TF 7T BF & Ja¥ ¥ 3fiGd a9 27.8 Kg 6 HH &l T 21 7T
B BT 999 8 / The average weight of 29 students is 28 Kg. By the admission of a new student,

the average weight is reduced to 27.8 Kg. The weight of the new student is —— ?
(A) 22 Kg (B) 21.6Kg
(C) 22.4Kg (D) 21Kg

af @ o F T Ry ot @ 97 S S @ 387 T W & @ 39 aw # For Fhay =aRe A
27 /1f Ramu’s position in a queue is 9™ from front and 38" from back, then total how many people
are there in that queue?

(A) 35 (B) 46

(C) 47 (D) 48

ot ot bt iR 68 A= et 3tk 60 =Y Hex Bl T QAT I & AABEA o I b SR h &ABA
el @R I I qRI T 87 / Perimeters of two squares are 68 cm and 60 cm. Find the
perimeter of the third square, its area is equal to the difference of the areas of these two squares.
(A) 648.1t/cm () 6031 /cm

(C) 32¥.Ht/cm (D) 8®.H/cm

50 = % 9 Rs. 41/- H T 91t ) I weF 3N wSHA B wAw: 90 ¥ 3K 65 A
forerar 81 <ies 3R wefRal St T@ &1 9ar @ Y| / A sum of Rs. 41/- was divided among 50
children. Each boys and girls gets 90 Paise and 65 Paise respectively. Find the number of boys
and girls.

(A) 34,16 (B) 30,20

(C) 36,14 (D) ¥ & HI3 &l / /None of these

If¢ 36 feramat <t wmTa qow 30 ferarat it fosht gewr & swreR B, @ @mw Wiwr ® / If the Cost Price
of 36 books is equal to the Selling Price of 30 books, then the gain percentage is

(A) 20% (B) 16%

(C) 16.5% (D) 8.5%

T 3 I T 144 Km/h B 30T 39! w18 210 e B1 430 e o8 @i H IR F@ § fra
O M / The speed of a train is 144 Km/h and its length is 210 m. How long will it take to cross
a 430 m long platform?

(A) 7.5Sec (B) 19 Sec
(C) 16 Sec (D) T4 9 i3 781 / None of these

Bidw eflsneusfl gyymisd Bmieus 2 hiw eusrraib/
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42. TS TF BT I 2744 cm® 2| 3G T &% a1 87 / The Volume of a Cube is 2744 cm®?
What is its Surface area?

(A) 196 cm? (B) 1176 cm?

(C) 784 cm? (D) T8 ¥ I3 &l / None of these
43. I % SA%e feBIeH Sl FHIEU / Equation to find the area of a Circle is

A) %bh (B) &

(C) xr? (D) T ¥ is 781 / None of these

44. TH g § S fHT M 9T 120, 130, 100, 150, 110 B A/fGT @IS / Coupons issued in a
week are 120, 130, 100, 150, 110. Find the average/day.
(A) 134 (B) 122
() 112 (D) 132

45. 10 9Ht Y1 9 = ¥ ged o2 M 6t == s HR™T / Find radius of largest sphere from a

cube of side 10 cm.

(A) 0O4cm (B) 06 cm
(C) 03cm (D) 05cm
48. % 1 TIMeTS TER FA AT / Find the decimal expansion of —g»
(A) 0.375 (B) 0512
(C) 0.485 (D) 0.325
47. 168 31 126 1 TIHITE & / HCF of 168 & 126 is
A 21 B) 42
(C) 14 (D) 18

48. frefafiaa § € = € g=ar 240 39 @1 § TS &t 872 / Which of the following numbers gives

240 when added to its own square?
(A) 15 (B) 16
(C) 18 (D) 20

49. 8%« 82x 8" I YouishT 2 / Evaluation of 8% 8%« 8%is
A 1 (B) O
(c) 8 (D) 39RE ¥ ¥ I 781 / None of these

50. UH W 36 elet UG W 522 Kms il gt 78 o Teell 21 98 14 efiet @ & fraht @ @ =

Hehal %? / A car can cover a distance of 522 Kms. on 36 litres of petrol. How far can it travel on
14 litres of petrol?

(A) 213 Kms. (B) 223 Kms.
(C) 203 Kms. (D) 302 Kms.
10 Ardw efesrQeuafl gy rmiédl Hmieauer 2 bgiw eusTrsi/
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51.

52.

53.

54,

i/ Part-D

HWEX FH / Computer Literacy
BT HIdl HH & fow w0rE B / Command for data copying is
(A) ControlV
(B) Control C
(C) Control X
(D) ¥ ¥ HIE TEl / None of these
S # — % fiu wEwata w1 3@ fRAr ST R1 / Firewall is used in PC

for
(A) 3THET =L / Data transmission

(B) €&/ Security
(C) T==TI/ Controlling
(D) T8 ¥ I3 &l / None of these

T fomT % FrRIgER g TR & wEierl § S W R i & o fha wive 1 w3
o ST =nfgw? 7 As per the directives of Department of Official Language, which Font should be
used in the offices of Central Government for doing work on computers?

(A) Unicode

(B) Krutidev

(C) DevlLys

(D) 3TH @ I3 I / None of these

wifsa wfafseat R s S fawen 7 w69 oW &0 & fog fen s 2, seard 8/

Coded entries which are used to given access to a Computer system are called

(A) Y91 WIS / Entry Code

(B) IH s / Pass words

(C) & 3TE™ / Security commands
(D) <hIS I/ Code words
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56.

57.

58.

59.

60.

e IS BIE Ugell I TS STl 8 / When a file is saved for the first time

(A) Tsh gfe Tt 9 3 ﬂﬁﬁ Bl 2/A copy is automatically printed

(B) | T & oY 38 wh 9 e Sn =nf@e / It must be given a name to identify it

(C) =& fopelt 7w <t Smarvarskan &l &/ It does not need a name

(D) ¥ hael T T <l JavahdT & Al 39 g Tl foham ST w1 B/ 1t only needs a name if it is

not going to be printed

it =1 g % / BCD stands for

(A) BT HiSS e / Binary coded decimal
(B) fere *Ige TImea / Bit coded Decimal

(€) wHl ®ige f&fe / Binary coded digit

(D) Toe wigs fefrest / Bit coded Digital

718 Ug T §/ are high end printers
(A) 3% W</ InkJet (B) TSR/ Laser
(C) e/ Thermal (D) sfe #fga™ / Dot matrix

HIRX T F TH QY S 3 T T A HW B F Yshal 2, $ ©Y A ST T 2 / A fault in a

Computer Program which prevents it from working correctly is known as
(A) ¥Z/Boot (B) +1/Bug
(c) faw®/ Biff (D) YEl/ Strap

TR @ EFGEI Bd & o ﬁ% A Eﬂgﬁ H TEET WGH A & / Servers are Computers that

provide resources to other Computers connected to a
(A) 2T / Network (B) T%A / Mainframe
(C) I HIX / Super computer (D) ose / Client

%F'“r ﬁ?{\%ﬂ oA 9 39y %? / Help menu is available at which button
(A) 3| /End (B) W&/ Start
(C) T3 / Turnoff (D) YIRY & / Restart

12
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a9/ Part - E

TereruTTess 9 / Descri ptive Type Question

T X % I $S THH o1 @ 8, Reeer wer-Fmi & qmm gm-sm faww ger @ sk

et Srgfaer Bt 31 o TR frm % e H 38 I i TEEH W g & Rrewrdt o

fafam)

(@)

(b)

(c)

(d)

(e)

et Taw % o @ e e e gt % s R 9t # ford)

(10)

(10)

. . T wRa & vig I A I s=wE F € R @ Eel-vaa 9, g frm % e
LA % HRU 3 foew 78 S w6 W R et gfown @ w8 fg = fon f afg sk @t &
s SR year I T8 21 SR Siewdl % H5E Hio § JUHER % 9 | S™ F1 38n
o™ & & | Fu-A =T FoRe) s TRt WS S SR o W % W @ wReg geT, R
T 3R et gEhr el wwa # 78 gesr fag Sy Wiy T 3R 3 ag e & e gen o

. . v = @ & R ot

3 forew it 7l < g ?

3% fohe iy W e gER e

W # Aeiet (R @Y. ft v % g et ww gan wne

‘T Yo T g 931 &9 fekau|
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63. Tmfeiaa menyl bt Yes I8 HEftd I & W R (10)
Mg e | 31T 61 IS T8 8l o Al 3Ma 7EET S T IgIHar aUT 6 &5
3Ee w78 war, 98 Shed # Hft oft wwerar affa & W ran gigam =R € sm W
TEEMAl § TUT JE b W@ Y W SHT BT @Al 8] HER H W SFARhET W qu1 Sl IH
T 8, 9 TTE BT FAGH ST HET AHA 2| Afe ARE AT BT TN T b TGHA HLal
Tl 8, 98 U W & 3ifufed ok 38 7 X uran] g7 SR W@ =Y 5 «ffar fesn steww w+ft
Wi &L &l a1l 3 IR ARG SATGT =D AHt hl AE H Wehd W @ ST IAeh! Y 3P
e B St 31 et Rl & Sfiew s e 7 & Frrfy s el ®1 gfgrm =fn & sre o e
33Td & | SiTe T FHEAT 1 7 SR H1 HGHAT 2| N SANRK SR Hl TEIHHL el & HR Hal
8, 98 LW A % fIg U SMreRt s ST @

(a) THE e A gun ATt Heea T 27
(b)  BH ST & 97 TR0 W@AT TR ?
(c)  Sia o Therar = 47 F1 2?2

(d) 9% =i & o fore T aneet 9 S @ s

(e) 9 W 1 3fuq e gl
64. Frafafiaa # & frdt o Ty w ey fod - (10)
(a) AR wra

(b) T Tohar < fere &

() GHERYA
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